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Instructions :

1. All questions in both the sections are compulsory.
2. Marks for questions are indicated against each question.

3. Question No. I-3 and 15-19 are very short answer questions
carrying | mark each. They are required to be answered in one
sentence.

4. Question No. 4-8 and 20-22 are short answer questions carrying
3 marks each. Answers to them should not normally exceed 60
words each.

5. Question No. 9-10 and 23-25 are also short answer questions
carrying 4 marks each. Answers to them should not normally

exceed 70 words each.

6. Question No. 11-14 and 26-29 are long answer questions
carrying 6 marks each. Answers to them should not normally
exceed 100 words each.

7. Answer should be brief and to the point and the above word limit

be adhered to as far as possible.
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SECTION A

1. o2 Tl &1 gt difeg | |

Give equation of Budget Line.

2. 9 IUNTERT i o1 fRel B A1 ufear awq % Fma-AT 9% W T g9E uedl
2. (Tl farey gfm) |
(a) @i 37R fawerar 2 |
(b) =T TR Rgwera ¢ |

(c) W7 dsh 9 ST T 3T e BT @ |
(d) I geh T A Y TR el BT 2 |

When income of the consumer falls the impact on price-demand curve of

an inferior good is : (choose the correct alternative)

(a) Shifts to the right.
(b) Shifts to the left.
(c) There is upward movement along the curve.

(d) There 1s downward movement along the curve.

3. R dmiq gfeeems @ e fotm @, at smafemm o ¢« (TE fasen i) 1
(a) +-3781  FHHIE E)
(by = i 3T gerat s/Eae e |
(c) =i 3T Teral 39a 8 |
(d) = i o7 zerat Hief Y@ g
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If Marginal Rate of Substitution is constant throughout, the Indifference

curve will be : (choose the correct alternative)

(a) Parallel to the x-axis.
(b) Downward sloping concave.
(c) Downward sloping convex.

(d) Downward sloping straight line.
4, O ST gy Feferfae Arfersrt W e Ieare HUIEET 9% 6 HTEL W

feouft i - 3
TG X (F) TG Y (FhE)

() 10

MU BRES I ]
el O e =

Giving reason comment on the shape of Production Possibilities curve

based on the following schedule :

Good X (units) Good Y (units)
0 10
1 9
2 7
3 4
4 0

5. 7@ @ H YE e T e ana afEe o sreferate % Ieaned HrEH
I 9L T UHTE TS ST = 7 3
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What will be the impact of recently launched ‘Clean India Mission’

(Swachh Bharat Mission) on the Production Possibilities curve of the

economy and why?
Or
What will likely be the impact of large scale outflow of foreign capital

on Production Possibilities curve of the economy and why?

6. U W 9% &l Hmd A0 dh % 919 RO-T8 (minus sign) S[ET BT £
_m%ﬁﬂﬁ‘{ﬁﬁﬂﬁwﬂlm—ﬁ%(p]ussign]HTEIE:I'IEE{ERﬁ? 3

The measure of price elasticity of demand of a normal good carries

minus sign while price elasticity of supply carries plus sign. Explain

why?

7. UE QU Wianh S FAed 1 T 9ga Sl 2l 2 | 39 o
TEe THATIT | 3

There are large number of buyers in a perfectly competitive market.

Explain the significance of this feature.

8. ‘I=aw shma =i fygior & fedt g % aem W v are yeia a9eso |
Tt =1 39 Fifu |

-

Explain the effects of ‘maximum price ceiling’ on the market of a good.

Use diagram.

o g8 arfem aiienterat & forg wva @ea 8 & T W)
Froa T 9 w7 At 2 7 stfiesan dima d fafor 3 gare geEu | 3
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For the blind candidates only in lieu of Q. No. 8.

What is price ceiling? Explain the effects of maximum price ceiling.

9. TF I99RE UF a5 T fSraeh Fa 8 5. ufd 3E R 1000 %, 5w a1 2
w19 md ¥ 25 Wi &1 gie 8 F6t 8 a9 off 98 9% W 1000 . g =M™
=1 2 | whaerd fafy g Fma-atn e 3a i | 4
A consumer spends Rs. 1000 on a good priced at Rs. 8 per unit. When

price rises by 25 per cent, the consumer continues to spend Rs. 1000 on

the good. Calculate price elasticity of demand by percentage method.

10. &vE i 9ty S | Jmid T R e giEd] S 6 S = g9y
AT | 4

e
oyt (31mma) <1 afvamn s | data sty o stea guifa & = gy
AT |

Define cost. State the relation between marginal cost and average

variable cost.
Or

Define revenue. State the relation between marginal revenue and

dVErdge revenue.

11. TF 399 had & Fegadi X 3 Y &1 IFN FAT ¢ | ] T Frerm hiHd
3 % U 3T 2 | Afe IUMIRRT 1 2 IEgAT o UH FIM F1 A FA 8
foraehil wfmia afereammm &2 3 2, @1 01 IuHRR 9ged 3 8 7 R Sifer |
feufa d us feaaeft 3asRT = = 7 SeEmRT | 6
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T I9ARH Fad @ g X R Y # I3udi e 2 et dima
A 4 %, 3N S %, Ul $hTE 2 | AfE IR ST asgadi 1 TET HAA g
g fomd X & diwig Iwifiar 5 iR Y &t dimia swifiar 4 2, dt @
3UHIH Hge 4 7 ¢ i difsre | vt fedfa ® v fageht smiime @ n?
Iufiran faetyvr o1 3w Hif |

A consumer consumes only two goods X and Y both priced at Rs. 3 per
unit, If the consumer chooses a combination of these two goods with'
Marginal Rate of Substitution equal to 3, is the consumer in.
equilibrium? Give reasons. What will a rational consumer do in this
situation? Explain.
Or

A consumer consumes only two goods X and Y whose prices are Rs. 4
and Rs. 5 per unit respectively. If the consumer chooses a combination
of the two goods with marginal utility of X equal to 5 and that of Y

equal to 4, is the consumer in equilibrium? Give reasons. What will a

rational consumer do in this situation? Use utility analysis.

12. ufEd! aqumal & e o a1 3R o dimia 3cg § 8 9t giEdAl &
fafirs =0 g0 | 3% & € w1 ot femgn 6

State the different phases of changes in Total Product and Marginal

Product in the Law of Variable Proportions. Also show the same in a

Y%Qrs

single diagram.
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e gfe At aftenfdet & fog s e 12 Frum

U HEATHF ISR F HTUR T A=) gl & o § $a 308 @il

Ha7d 3eare d g Al fafis = s | 6
For the blind candidates in lieu of Q. No. 12 only.

State, on the basis of a numerical example, different phases of

changes in Total Product and Marginal Product in the Law of Variable

Proportions.

13. *i fEl w6 1 d@qaq sl fefd & fau @mia a@ra sl Heia gty
() H SEEE] SATEE 2 7 H1 IR o giHfved s o fog wate 2 7
HHATEY | 6
Why is the equality between marginal cost and marginal revenue

necessary for a firm to be in equilibrium? Is it sufficient to ensure

equilibrium? Explain.

14. UF 95 %1 SO Hged § 2 1 38 g A1 am g g’ & St 2 1 38 aitEds
IO B I TATE S THE | 6

Market for a good is in equilibrium. The demand for the good

‘increases’. Explain the chain of effects of this change.

wEd
SECTION B
15. THE 3fTE H gE ol § R AT 2 1
What is ‘aggregate supply’ in macroeconomics? 1 Y
%uestl on
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16. T %1 5 98 B 2 - (TE e gn) 1
| |

®) St g waf Y
R e destion
1 Paper.com
s gt
1
D et s st

The value of multiplier is : (choose the correct alternative)

(a) =l
 MPC
1
MPS
|
1—-MPS
|
MPC —1

(b)

(c)

(d)

17. SR seic § 07 9 1w - (v fasea gim) 1
(a) TSTEE HIET
(b) TSRS =TeT
(¢) wafie =men
(d) I =
Borrowing in government budget is : (choose the correct alternative)

(a) Revenue deficit
(b) Fiscal deficit

(¢) Primary deficit
(d) Deficit in taxes

58/1/1 9 [P.T.L)



18. fimfefga d - vera g2 2« (9 fasew 9fm)

(a) faid o6

(b) ST [k

(c) T

(d) 3T Yeh

The non-tax revenue in the following is : (choose the correct alternative)
(a) Export duty

(b) Import duty

(c) Dividends

(d) Excise

19. 379 914 qdad Ted W, afe el dw A Tl g1 1 Fwd wedt @ 9t gmd
T 3 (WE T i)
(a) ™ Fig F G9E Bl ®
(b) fimet & Gomaan &t
(c) dfg R i i 3T e gt
(d) TS 99T T B
Other things remaining unchanged, when in a country the price of
foreign currency rises, national income is : (choose the correct
alternative)
(a) Likely to rise
(b) Likely to fall

(e} Likely torise:and fall both Y %O S

(d) Not affected uestion
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20. f2 Irafas Ta IE 3eme 200 %, ® 3R FHd gEEE (3MHR=100)
110 2, 0ifee gevet 29t Ieme &1 ufiered s | 3

If Real GDP 1s Rs. 200 and Price Index (with base = 100) is 110,

calculate Nominal GDP.
21, S % 34 faga it & A FaEy SR e Sae o & st e
T Tl T ST 2 | 3
HIAT

e & 3 faega il o 91 sarEe et yam Sqee e & e dar
1 gl forar sman 2 o

Name the broad categories of transactions recorded in the ‘capital

account’ of the Balance of Payments Accounts.
Or

Name the broad categories of transactions recorded in the ‘current

account’ of the Balance of Payments Accounts.

22. foRwi =1 oef| S e Gged @ 0wl as foRm Smom ? &nm
B! 3

Where will sale of machinery to abroad be recorded in the Balance of

Payments Accounts? Give reasons.

23, FE19 9% =1 SHIFA] 9% F1E GHET | 4
Frera

FeE1g 3 1 WER T A% H1 AR |

Explain the ‘bank of issue’ function of the central bank.

58/1/1 1 | [P.T.O.



Or

Explain ‘Government’s Bank’ function of central bank.

24. BB H 9 SR 4 SHE-99 FieE] I i e e € T udw
TRER 1 FH § FH UF SF QI 2 | THIAEY Tk 39 TI9HT o Aaid i T
ST <31 T TIFTT 3419 =t Hd T1fed i | 4

Government of India has recently launched ‘Jan-Dhan Yojna® aimed at
every household in the country to have at least one bank account.
Explain how deposits made under the plan are going to affect national

income of the country.

25. TF =g Tged o € | Freferfan @ e s e aftewem i 4
@I IUEm = 100
diia s=d 9gfd = 0.2
A == = 200

An economy is in equilibrium. Calculate national income from the

following :

Il

Autonomous consumption 100

‘Marginal propensity to save = 0.2

[nvestment expenditure = 200

26, T SETd TC FHLISC fF UE 5T 1 9T i H Feefiad & wg
EEMMEDISICIRS] FL 6
(i) ®H g 9TEE 3THI-2-C %1 1 < W =57
(i) wH g T = T e
(iii) 5 g1 W9 3G % o0 Fie 1 %3
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Giving reason explain how should the following be treated in estimation

of national income :
(i) Expenditure by a firm on payment of fees to a chartered accountant
(i) Payment of corporate tax by a firm

(ii1) Purchase of refrigerator by a firm for own use

27. Thifgeit 3o FT SaURoT FHEEY | $Ee FH F °H gHEE o (Repo
Rate) 3T +fHeh1 ! SITAT AT | | 6
HUAGT
SR STt FT STEROT UERe 3 3 FH R 0 Tl 99N+
FEHATT i JHeRT il =TT FIT |

Explain the concept of Inflationary Gap. Explain the role of Repo Rate

in reducing this gap.
Or

Explain the concept of Deflationary Gap and the role of ‘Open Market
Operations’ in reducing this gap.

28. FS1Z % WIEEA H THIGHI & TG H YATEE HA H HEHR T IR
ST ST | 6

Explain the role the government can play through the budget In

influencing allocation of resources.

Y %uestlon
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29, TPR A 3R Jafthe TS 3T a1 Tiehad Hifsg :

(FULT.)
(i) | Srferes 80
(ii) | ot e7ferm 3oer =1 600
(iii) | stfarafa em 30
(iv) | fsft o1 650
(v) | s sifan v =1 100
(vi) | fm =2 50
(vii) | forae Sefa et it Ffor 70
(viii) | faer sToere 60
(ix) | qe= BT 14
(x) | =f ¥ uftada (=10
(xi) | fae st 20
(xii) | fqasti = fradt s 10

58/1/1
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Calculate National Income and Personal Disposable Income :

(Rs. crores)

(1) | Personal tax 80
(it) | Private final consumption expenditure 600
(111) | Undistributed profits 30
(iv) | Private income 650
(v) | Government final consumption expenditure 100
(vi) | Corporate tax 50
(vii) | Net domestic fixed capital formation 70
(viii) | Net indirect tax 60
(ix) | Depreciation 14
(x) | Change in stocks (=) 10
(x1) | Net imports 20
(xii) | Net factor income to abroad 10
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